## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BBSS ACTIVITIES APRIL 13, 2023 THROUGH APRIL 13, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-531-3)

Brillhart, Sarah Mckinney, Benjamin
Capranica, Amy Moore, Lori
Cathers, Leanne Nolen, Emily
Curtis, Michele Punke, Lindsay
Foster, Carmelita Quandahl, Erica
Fox, Kathleen West, Erica
Hendon, Wendy Zoll, Alexandra
Kahl, Lindsay

Kani, Lindsay

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATHENY IAR TRAINING MARCH 13 THROUGH MARCH 15, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

Bowman, Ashley	1.00 hours	\$33.88
Cleghorn, Debra	1.00 hours	33.88
Frank, Kristine	0.50 hours	16.94
Garcia, Michelle	0.50 hours	16.94
Gilmore, Elizabeth	0.50 hours	16.94
Hoffman, Julie	1.00 hours	33.88
Logsdon, Thomas	1.00 hours	33.88
Mozley, Lorraine	1.00 hours	33.88
Oseland, Mary	1.00 hours	33.88
Sapetti, Camryn	1.00 hours	33.88
Tennant, Mary	1.00 hours	33.88
Thomas, Sarah	1.00 hours	33.88
Williams, Kauntessa	0.50 hours	16.94

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MARCH 29, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-531-3)

Baldin, Jennifer Moore, Lori Brillhart, Sarah Punke, Lindsay IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING APRIL 5, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-531-3)

Baldin, Jennifer Moore, Lori Brillhart, Sarah Punke, Lindsay

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING APRIL 19, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-531-3)

Baldin, Jennifer	1.75 hours	\$59.29
Brillhart, Sarah	1.75 hours	59.29
Moore, Lori	0.50 hours	16.94
Punke, Lindsay	0.50 hours	16.94

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING APRIL 12, 2023, \$33.88 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$76.23 EACH: (10-2210-0000-1341-531-3)

Baldin, Jennifer Moore, Lori Brillhart, Sarah Punke, Lindsay

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING APRIL 19, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-531-3)

Kahl, Lindsay Peterman, Sarah

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BACKWARDS PLANNING FEBRUARY 7, 2023, \$33.88 PER HOUR, 4 HOURS FOR A TOTAL OF \$135.52 EACH: (10-2210-0000-1341-531-3)

Hummert, Julie Wiseman, Melissa

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BACKWARDS PLANNING FEBRUARY 9, 2023, \$33.88 PER HOUR, 4 HOURS FOR A TOTAL OF \$135.52 EACH: (10-2210-0000-1341-531-3)

Cantrell, Kenda

Robinson, Sarah

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BACKWARDS PLANNING FEBRUARY 10, 2023, \$33.88 PER HOUR, 4 HOURS FOR A TOTAL OF \$135.52: (10-2210-0000-1341-531-3)

Vogt, Denise

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BACKWARDS PLANNING FEBRUARY 11, 2023, \$33.88 PER HOUR, 4 HOURS FOR A TOTAL OF \$135.52: (10-2210-0000-1341-531-3)

Lafountain, Taunja

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BACKWARDS PLANNING FEBRUARY 14, 2023, \$33.88 PER HOUR, 4 HOURS FOR A TOTAL OF \$135.52: (10-2210-0000-1341-531-3)

Vespa, Darci

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL BACKWARDS PLANNING APRIL 11, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76: (10-2210-0000-1341-531-3)

Rudd, Lindsey

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL BOOK STUDY MARCH 29, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-531-3)

Borjon, Jo Kovski, Amanda
Burton, Emily Morgan, Douglas
Escobar, Natasha Quarton, Lori
Greig, Anne Quarton, Michael
Hale, Marcy Seiz, Anne
Hostetter, Melissa Shipman, Debra
Jones, Taylor Totura, Jessica

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES MARCH 7 THROUGH APRIL 18, 2023, \$32.26 PER HOUR, 13 HOURS FOR A TOTAL OF \$419.38: (10-3700-0000-1243-531-3)

Schrenk, Nancy

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES APRIL CPI INSTRUCTIONAL ACTIVITIES APRIL 13 THROUGH APRIL 20, 2023, \$33.88 PER HOUR: (10-1200-6220-1165-000-0)

Dwyer, Rachael 4.00 hours \$135.52 Logsdon, Thomas 8.00 hours 271.04

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2022-2023 MARCH MEDICAID BILLING ACTIVITIES MARCH 1 THROUGH APRIL 6, 2023, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Brinkmann, Kristen	4.75 hours	\$57.85 Per Hour	\$274.79
Brown, Mary	1.00 hours	\$71.13 Per Hour	71.13
Clark, Abigail	5.00 hours	\$49.78 Per Hour	248.90
Clark, Michelle	3.25 hours	\$72.15 Per Hour	234.49
Corley, Elizabeth	4.25 hours	\$61.89 Per Hour	263.03
Crabtree, Caroline	3.25 hours	\$39.02 Per Hour	126.82
Deatherage, Debra	5.00 hours	\$62.14 Per Hour	310.70
Dunn, Cara	3.00 hours	\$48.44 Per Hour	145.32
Farley, Nicole	5.00 hours	\$48.44 Per Hour	242.20
Febus, Ashley	3.00 hours	\$61.89 Per Hour	185.67
Foster, Jennifer	3.50 hours	\$53.82 Per Hour	188.37
Giacomini-Fay, Lisa	5.00 hours	\$69.10 Per Hour	345.50
Groesch, Erica	2.50 hours	\$71.13 Per Hour	177.83
Gruenenfelder, Tara	4.00 hours	\$67.07 Per Hour	268.28
Hummel, Emily	5.00 hours	\$61.89 Per Hour	309.45
Kaufmann, Sarah	3.50 hours	\$57.85 Per Hour	202.48
Kim, Whitney	4.00 hours	\$72.15 Per Hour	288.60
Lanter, Lindsey	4.00 hours	\$52.47 Per Hour	209.88
Marcum, Stacie	2.75 hours	\$53.83 Per Hour	148.03
Mcdaniel-Norton, Stacey	4.50 hours	\$71.13 Per Hour	320.09
Mitchell, Daj'Za	3.00 hours	\$39.02 Per Hour	117.06
Naumovich, Amanda	5.00 hours	\$63.74 Per Hour	318.70
Rehn, Megan	1.75 hours	\$40.36 Per Hour	70.63
Reitz, Laura	4.50 hours	\$60.54 Per Hour	272.43
Rouland, Jill	3.50 hours	\$59.19 Per Hour	207.17
Sapetti, Camryn	2.00 hours	\$39.02 Per Hour	78.04
Schmitt, Sara	1.50 hours	\$53.83 Per Hour	80.75
Upchurch, Taylor	3.50 hours	\$53.84 Per Hour	188.44
Vice, Morgan	4.00 hours	\$40.36 Per Hour	161.44

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2022-2023 FEBRUARY MEDICAID BILLING ACTIVITIES FEBRUARY 1 THROUGH MARCH 17, 2023, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Fenstermacher, Lori	5.00 hours	\$72.15 Per Hour	\$360.75
Naumovich, Amanda	5.00 hours	63.74 Per Hour	318.70
Upchurch, Taylor	4.00 hours	53.84 Per Hour	215.36
Vandermaiden, Kaitlyn	5.00 hours	41.71 Per Hour	208.55

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2022-2023 JANUARY MEDICAID BILLING ACTIVITIES FEBRUARY 1 THROUGH FEBRUARY 28, 2023, \$72.15 PER HOUR, 5 HOURS FOR A TOTAL OF \$360.75: (10-2210-6220-1342-000-0)

Fenstermacher, Lori

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITES MARCH 31 THROUGH APRIL 13, 2023, \$32.26 PER HOUR, 28.5 HOURS FOR A TOTAL OF \$919.41 EACH: (10-3700-0000-1243-531-3)

Lamsargis, Kathy

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION LEADERSHIP MEETING APRIL 4, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-6431-1341-481-3)

Servough, Carrie Watt-Brennan, Janine Tolsdorf, Kathleen Wisecup, Melinda

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL MATH ACCELERATED PLANNING MEETING APRIL 25, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Barnard, Angela House, Amber

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FAIRVIEW BBSS TRAUMA TRAINING APRIL 13, 2023 THROUGH APRIL 13, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-564-3)

Shockey, Violeta

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION INTRO TO TRAUMA TRAINING MARCH 1, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

Appenzeller, Lisa	1.00 hours	\$33.88
Barnes, Melanie	1.00 hours	33.88
Boarman, Claire	2.00 hours	67.76
Brown, Michelle	1.25 hours	42.35
Bryant, Sydney	1.25 hours	42.35
Capps, Gail	2.00 hours	67.76
Coleman, Justin	2.00 hours	67.76
Crumrine, Carrie	1.25 hours	42.35
Donaho, Kimberly	3.00 hours	101.64
Duke, Karen	1.75 hours	59.29
Erickson, Carlie	2.00 hours	67.76
Ericson, Stacey	1.25 hours	42.35
Ethridge-Galloway, Tiffany	1.25 hours	42.35
Floyd, Alaxandria	1.25 hours	42.35
Frost, Madison	1.25 hours	42.35
Gade, Melinda	1.00 hours	33.88
Garman, Jeffrey	2.00 hours	67.76
Gebhardt, Emily	1.75 hours	59.29
Gilchrese, Tia	1.00 hours	33.88
Goss, Courtney	1.00 hours	33.88
Graham, Brianna	1.25 hours	42.35
Groth, Christine	1.25 hours	42.35
Harris, Nicolette	2.00 hours	67.76
Humphrey, Jerrod	1.00 hours	33.88
Hunsley-Hunt, Stephanie	1.25 hours	42.35
Hustedt, Isaac	1.75 hours	59.29
Ingold, Jessica	1.25 hours	42.35
Johnson, Gay	2.00 hours	67.76
Johnson, Marissa	1.25 hours	42.35
Judy, Kathryn	1.25 hours	42.35
Kircher, Megan	1.25 hours	42.35
Kondelis, Lydia	1.25 hours	42.35
Lamsargis, Grant	1.25 hours	42.35
Lanter, Adam	1.00 hours	33.88
Maley, Sarah	1.75 hours	59.29
Mcquillan, Marilou	1.25 hours	42.35
Nachtwey, Kristin	1.25 hours	42.35

## Dept of Instruction Intro to Trauma Training March 1, 2023, \$33.88 Per Hour, cont.

Newton, Antony	1.25 hours	42.35
Nicholas, Kelly	1.00 hours	33.88
Patterson, Jami	1.25 hours	42.35
Prather, Valerie	1.00 hours	33.88
Rajsky, Heidi	1.25 hours	42.35
Rhodes, Lindsey	1.25 hours	42.35
Scheffers, James	1.00 hours	33.88
Scheufele, Lori	1.00 hours	33.88
Schoedel, William	1.25 hours	42.35
Schurman, Cecelia	1.00 hours	33.88
Sill, Andrew	1.25 hours	42.35
Simon, Michael	1.25 hours	42.35
Sitko, Tristen	1.25 hours	42.35
Spencer, Horazina	1.25 hours	42.35
St. Aubin, Katrina	1.75 hours	59.29
Stephens, Catherine	1.75 hours	59.29
Strauch, Allyson	1.00 hours	33.88
Swaggerty, Dawn	2.00 hours	67.76
Unthank, Jessica	1.00 hours	33.88
Vespa, Darci	1.25 hours	42.35
Volk, Rachel	1.25 hours	42.35
Wallner, Jennifer	1.00 hours	33.88
Weatherford, John	2.00 hours	67.76
West, Erica	1.00 hours	33.88
Williams, Alyson	1.25 hours	42.35

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL BLACK HISTORY PROFESSIONAL DEVELOPMENT APRIL 5, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Emery, Jefferey Hodapp, Brad Lightfoot, Jeffrey

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL ENGLISH CURRICULUM TEAM MEETING APRIL 18, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-564-3)

Eaton, Deborah Emery, Erin Sriner, Krystal

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FINE ARTS PROFESSIONAL DEVELOPMENT JANUARY 11, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

Beger, Jane	2.00 hours	\$67.76
Bentsen, Abigail	2.00 hours	67.76
Borjon, Jo	2.00 hours	67.76
Cannon-Garcia, Pamela	2.00 hours	67.76
Decker, Corie	2.00 hours	67.76
Easley, Kiesha	2.00 hours	67.76
Frost, Karen	2.00 hours	67.76
Marcy, Elizabeth	2.00 hours	67.76
Mcfadden, Jennifer	2.00 hours	67.76
Minch, Amy	2.00 hours	67.76
Minder, Kelly	2.00 hours	67.76
Mitchell, Maryna	2.00 hours	67.76
Scherbing, Laura	2.00 hours	67.76
Sennings, Tricia	2.00 hours	67.76
Shaw, Shelly	1.00 hours	33.88
Smetters, Jacob	2.00 hours	67.76
Sowinski, Kristen	2.00 hours	67.76

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LITERACY DEPARTMENT PLANNING HOURS APRIL 12 THROUGH APRIL 20, 2023, \$33.88 PER HOUR: (10-2210-6412-1341-000-0)

Archey, Heather K	7.50 hours	\$254.10
Brown, Michael	7.50 hours	254.10
Buyze, Margaret	7.50 hours	254.10
Daniels, Sherry	5.00 hours	169.40
Dockter, Emily	7.50 hours	254.10
Eaton, Deborah	7.50 hours	254.10
Gaines, Shalanda	7.50 hours	254.10
Hale, Yacira	7.50 hours	254.10
Havenar, Meri	7.50 hours	254.10
Hodapp, Brad	5.00 hours	169.40
Jones, Kathryn	5.00 hours	169.40
Stewart, Shelley	7.50 hours	254.10

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HARVARD PARK BACKWARDS PLANNING MARCH 13 THROUGH APRIL 21, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

Campbell, Melissa6.00 hours203.28Dold, Jena10.50 hours355.74Finney, Elizabeth1.50 hours50.82Freeman, Cynthia1.50 hours50.82	Acker, Allison	1.50 hours	\$50.82
Finney, Elizabeth 1.50 hours 50.82	Campbell, Melissa	6.00 hours	203.28
	Dold, Jena	10.50 hours	355.74
Freeman, Cynthia 1.50 hours 50.82	Finney, Elizabeth	1.50 hours	50.82
•	Freeman, Cynthia	1.50 hours	50.82
Jones, Theresa 1.50 hours 50.82	Jones, Theresa	1.50 hours	50.82
King, Courtney 1.50 hours 50.82	King, Courtney	1.50 hours	50.82
Langen, Natasha 7.50 hours 254.10	Langen, Natasha	7.50 hours	254.10
Lee, Sabrina 1.50 hours 50.82	Lee, Sabrina	1.50 hours	50.82
Mitchell, Shanna 1.50 hours 50.82	Mitchell, Shanna	1.50 hours	50.82
Nestler, Tena 6.00 hours 203.28	Nestler, Tena	6.00 hours	203.28
Ott, Kaylee 3.00 hours 101.64	Ott, Kaylee	3.00 hours	101.64
Parkinson, Vanessa 6.00 hours 203.28	Parkinson, Vanessa	6.00 hours	203.28
Roark, Heather 7.50 hours 254.10	Roark, Heather	7.50 hours	254.10
Shepherd, Tosha 1.50 hours 50.82	Shepherd, Tosha	1.50 hours	50.82
Stoll, Nicole 6.00 hours 203.28	Stoll, Nicole	6.00 hours	203.28
Thompson, Jessica 1.50 hours 50.82	Thompson, Jessica	1.50 hours	50.82
Woodside, Alexis 1.50 hours 50.82	Woodside, Alexis	1.50 hours	50.82

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION DYSLEXIA TASK FORCE MEETINGS APRIL 4 THROUGH APRIL 11, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

Billington, Leah	1.00 hours	\$33.88
Boyd, Lisa	1.00 hours	33.88
Brown, Michelle	1.00 hours	33.88
Dockter, Emily	2.00 hours	67.76
Dold, Jena	1.00 hours	33.88
Dukett, Jennifer	1.00 hours	33.88
Dunn, Christine	1.00 hours	33.88
Geosling, Raymond	2.00 hours	67.76
Greig, Anne	1.00 hours	33.88
Hale, Yacira	1.00 hours	33.88
Hasquin, Jamie	1.00 hours	33.88
Havenar, Meri	2.00 hours	67.76
Hostetter, Melissa	1.00 hours	33.88
Joyner, Abbie	1.00 hours	33.88

## Dyslexia Task Force Meetings April 4 Through April 11, 2023, \$33.88 Per Hour, cont.

Jurgens, Mary	2.00 hours	67.76
Kim, Whitney	1.00 hours	33.88
Londrigan, Amanda	1.00 hours	33.88
Maggiore, Michelle	1.00 hours	33.88
Schukai, Melissa	2.00 hours	67.76
Smith, Kelsie	1.00 hours	33.88
Thomas, Sarah	1.00 hours	33.88
Vose, Antoinette	2.00 hours	67.76

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM APRIL 19, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-564-3)

Bell, Charlotte	Logsdon, Alicia
Borders, Ashley	Maggiore, Michelle
Brown, Michelle	Maley, Sarah
Buyze, Margaret	Mccarthy, Caitlin
Campbell, Melissa	Mckneelen, Angela
Cano, Michelle	Mclaughlin, Stacey
Cantrall, Cassandra	Metzke, Deana
Capranica, Amy	Midiri, Stefanie
Clarke, Angela	Miller, Claire
Comerford, Janel	Moore, Carolyn
Cox, Heather	Moore, Lori
Creek, William	Morgan, David
Crum, Milena	Neely, Gail
Crumrine, Carrie	Niemeyer, Cara
Daley, Melinda	Noll, Meghan
Davis, Lacy	Ott, Kaylee
Dickman, Barbara	Perry, Whitney
Dold, Jena	Poe, Sarah
Drennan, Emily	Poppenhouse, Leslie
Erickson, Carlie	Poss, Nichole
Ethridge-Galloway, Tiffany	Punke, Lindsay
Freer, Deidre	Quarton, Lori
Gaines, Shalanda	Quarton, Michael
Garcia, Michelle	Riech, Allison
George, Cynthia	Romer, Gina

Rotherham, Pam

Grace, Eileen

## Teaching and Learning Symposium April 19, 2023, \$33.88 Per Hour, cont.

Grieme, Nathan	Schatz, Katie
Harness, Amanda	Schoppenhorst, Debbie
Harris, Nicolette	Schudel, Mark
Harris, Timothy	Schukai, Melissa
Hays, Robyn	Shaon, Spring
Hoffman, Julie	Spencer, Horazina
House, Elizabeth	Standley, Joy
Hubbs, Sally	Stewart, Pamela
Hunsley-Hunt, Stephanie	Stewart, Shelley
Ingram, Cristi	Swaggerty, Dawn
Jett, Tandra	Tatum, Heather
Jimerson, Angela	Taylor, Leslie
Johnson, Rachel	Tennant, Mary
Jurgens, Mary	Vanderslik, Julie
Kaiser, Aimee	Vespa, Darci
Korza, Carolyn	Walker, Amy
Kyes, Jessieca	Wallner, Jennifer
Larson, Stacey	Walters, Amy

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL TECH LEADER STIPENDS FOR 3RD QUARTER 22-23 JANUARY 04, 2023 THROUGH MARCH 17, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-3)

Cuzzort, Samantha	1.00 Stipend	\$250.00
Dickman, Barbara	1.00 Stipend	150.00
Havener, Michael	1.00 Stipend	175.00
Jachino, Rachel	1.00 Stipend	239.50
Kleinertz, Larresa	1.00 Stipend	250.00
Nesbit, Angie	1.00 Stipend	250.00
Schaefer, Bridget	1.00 Stipend	100.00

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION MATHENY IAR TRAINING MARCH 13 THROUGH MARCH 15, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-3)

Crisanto, Demetrius	1.00 hours	\$16.92 Per Hour	\$16.92
Pitts, Debra	1.00 hours	\$16.92 Per Hour	16.92
Sutton, Jennifer	1.00 hours	\$23.11 Per Hour	23.11
Underwood, Kayla	1.00 hours	\$20.90 Per Hour	20.90

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION BUILDING THINKING CLASSROOMS BOOK STUDY APRIL 17, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Bahlmann, Dara	Kwedar, Rebecca
Barnard, Angela	Logsdon, Alicia
Borah, Jill	Mclaughlin, Stacey
Ciotti, Ryan	Midiri, Stefanie
Cox, Heather	Noll, Meghan
Dewitt, Beth	Pyle, Amy
Dickman, Barbara	Rodden, Katelynn
Fernandez, Mary	Rudd, Douglas
Fox, Kathleen	Schroeder, Cynthia
Gordon, Tracy	St. Aubin, Katrina
Hanes, Decky	Tomasko, Kimberly
Hayes, Latausha	Webster, Stephanie
Hustedt, Isaac	Wilson, Krista
Kahl, Lindsay	

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START PRE-K COLLABORTATION APRIL 04, 2023 THROUGH APRIL 04, 2023, \$20.21 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$30.32 EACH: (10-2210-6431-1360-481-3)

Dickerson, Latasha

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION LEE PARAPROFESSIONAL TRAINING APRIL 12, 2023 THROUGH APRIL 12, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-3)

Bostic, Theresa	1.25 hours	\$16.92 Per Hour	\$21.15
Carroll, Jeremy	1.25 hours	\$21.21 Per Hour	26.51
Cumberworth, Corey	1.25 hours	\$20.11 Per Hour	25.14
Heimberger, Lynn	1.25 hours	\$22.51 Per Hour	28.14
Hendricks, Vanessa	1.25 hours	\$19.11 Per Hour	23.89
Herrin, Glenda	1.25 hours	\$16.92 Per Hour	21.15
Joiner, Valancia	1.25 hours	\$17.72 Per Hour	22.15
Merrifield, Cristiana	1.25 hours	\$16.92 Per Hour	21.15
Nailing Bridgeford, Alandria	1.25 hours	\$19.31 Per Hour	24.14

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION HARVARD PARK CULTIVATING GENIUS MARCH 29, 2023 THROUGH MARCH 29, 2023, \$25.50 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$38.25 EACH: (10-2210-0000-1341-564-3)

Perkins, Takera

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION FAIRVIEW BBSS TRAUMA TRAINING APRIL 13, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-3)

Fitzgerald, Vickie	2.00 hours	\$28.14 Per Hour	\$56.28
Nolte, Erin	2.00 hours	\$18.18 Per Hour	36.36

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION TEACHING AND LEARNING SYMPOSIUM APRIL 19, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-3)

Cook-Hoffek, Janet	2.00 hours	\$25.50 Per Hour	\$51.00
Daniels, Kendra	2.00 hours	\$25.50 Per Hour	51.00
Douglas, Frederick	2.00 hours	\$25.50 Per Hour	51.00
Green, Ryan	2.00 hours	\$25.50 Per Hour	51.00
Logan, Kendra	2.00 hours	\$25.50 Per Hour	51.00
Miller, Janai	2.00 hours	\$25.50 Per Hour	51.00
Morris, Michelle	2.00 hours	\$36.14 Per Hour	72.28
Nelson, Tara	2.00 hours	\$59.38 Per Hour	118.76
Richards, Mary	2.00 hours	\$25.50 Per Hour	51.00
Van Ryn, Carmilyn	2.00 hours	\$17.01 Per Hour	34.02
Walker, Jaunice	2.00 hours	\$25.50 Per Hour	51.00

XL RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION ALL CITY MUSIC FESTIVAL VIDEO ACTIVITIES APRIL 4, 2023, \$30.83 PER HOUR, 2 HOURS FOR A TOTAL OF \$61.66: (10-2210-6412-1341-000-0)

Drake, Corey

XLI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION BUILDING THINKING CLASSROOMS BOOK STUDY APRIL 17, 2023 THROUGH APRIL 17, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82: (10-2210-0000-1341-564-3)

Hovey, Robyn